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Part 1: Reading Comprehension I (4 80 40

Use the information in the article to answer questions (1) — (8). For each question, choose one answer (A, B,
Cor D).
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Source:

Mainichi Japan (January 6, 2018). Nearly half of Japan’s major firms using or planning to use Al: survey.
Retrieved from https://mainichi.jp/english/articles/20180106/p2a/00m/Ona/011000c [Accessed: June 12,
2018].






(1) | What did the Mainichi Shimbun find out about 47% of the companies that it surveyed? (10 points)

A) They plan to double their use of Al

B) They plan to replace most human experts.
C) They already use Al or plan to introduce it.
D) They have no plans to use Al

(2) | How is Al used at SMBC Nikko Securities Inc.? (10 points)

A) It opens accounts for customers.

B) It answers customers’ questions.

C) It calculates stock prices.

D) It shows candidates the answers to questions.

(3) | Why is Mitsubishi Electric Corp. planning to use Al? (10 points)

A) to transfer the knowledge of experienced employees
B) to replace a large number of workers who recently quit
C) to automate the beer brewing process

D) to copy precision optical parts

(4) | Which one of the following said that Al had reduced their human workloads? (10 points)

A) Kirin Holdings Co.

B) Sumitomo Mitsui Banking Corp.
C) Nomura Research Institute

D) Dai Nippon Printing Co.

(5) | What did Mitsui & Co. say about the introduction of Al into its operations? (10 points)

A) It had replaced the jobs of a few hundred employees.
B) It resulted in the loss of some jobs.

C) It would not affect any jobs.

D) It would not result in the downsizing of manpower.
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What did major insurance providers say about AI? (10 points)

A) After surveying their employees they decided not to cut jobs.
B) It would result in the employment of approximately 20 people.
C) It is possible that Al will result in the downsizing of manpower.
D) It would be used to calculate stock prices.

What is one thing that Hirotoshi Kishi said? (10 points)

A) Al will increase the volume of deskwork.

B) People will be essential for sales negotiations and business planning.
C) Nomura Research Institute has streamlined its operations with Al
D) Firms will have to avoid the downsizing of manpower.

Which one of the following is true? (10 points)

A) Sumitomo Mitsui Banking Corp. used Line to develop an Al app.

B) Kirin Holdings Co. has no plans to introduce Al

C) Large trading companies have replaced dozens of employees with Al
D) The survey was carried out in December 2017.




Part 2: Writing I @ 50 40

Write about 100 words in English explaining how technology can be used to improve schools.
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Part 3: Reading Comprehension II (&4 40 20

Use the information in the article to answer questions (1) — (4). For each question, choose one answer (A, B,
Cor D).
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Source:

The Japan Times (December 24, 2017). Olympics to deploy facial recognition technology to screen staff,
athletes and reporters. Retrieved from https://www.japantimes.co.jp/news/2017/12/24/national/
olympics-deploy-facial-recognition-technology-screen-staff-athletes-reporters [ Accessed: June 12, 2018].
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Why will facial recognition technology be used at the Tokyo Olympics? (10 points)

A) to speed up entry to venues
B) to reduce security costs
C) to share visitor ID cards
D) to prevent luggage theft

How will facial recognition technology be used for people coming only to watch the games?

(10 points)
A) Their faces will be checked against a database of registered photographs.
B) Their faces will be checked against images on social media.
C) Facial photographs will be printed onto their tickets.
D) It will not be used for them.
What can NEC Corp.’s facial recognition technology do? (10 points)

A) It can identify individual spectators in a crowded stadium.
B) It can tell the difference between identical twins.

C) It can identify stolen or forged tickets.

D) It can recognize those who should undergo cosmetic surgery.

How was the identification of people entering the venues at the 2016 Rio Games carried out?
(10 points)

A) Facial recognition technology designed by the Justice Ministry was used.
B) It was carried out quickly and efficiently.

C) Security compared each person with their photo ID shown on a screen.
D) The organizing committee screened the people.



Part 4: Writing IT .30 40

Explain some of the advantages and disadvantages of surveillance cameras in public places. Write about 60
words in English.
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